EARAROBEEIERT — 2 N— IBISH —F

20165118198 (£) 17EHAE1H

m*g"g B ¥5%3m®% L ‘ [xz] & ‘ [eErsm]  — | 4 (A) 14000 RE
[AE4£] 1% :250,000 ™ ~ 23#%:58,000” ~ 33%&:23,000” . 43%&:13,000 M 53 :8,000H
B B BEBR M HE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
s = it :28. -1-1- . - REE (£E)
i 6l Py IV i 6 58 1(2_8)7 1-1-1-1 | 37.5 2 ;1_917) i 5
LTNFNTL2 BFA)=T3I2-X ax B
o N +2 REHE— :29. 00— . — FIIEE (1£H)
5 NIEEY > 8 =5 1(2:))5 2-2-2-2 | 38.1 4 (4+822) %%;¥ i
L:JY—>77O0-X B:3YICTSUK DR
N .= I &#R :29. -4-3- . - THER (E8)
sl o | XA RIVANRT 4w fas s % 1 ff;z) W o
Z:arFaay b BvAxXTIy TR EvJdLy RT77—L4
=50 g maEdk : -§-7- = AHE—K (1E8)
al7l 7| BT T —NN— 4 8 ae 1.(330).3 7-8-7-5 | 38.0 3 :fsg) s
R:g¥2Z2v3AY BUNTECR HH BB
“ s HFEA :31. -3-4- . — IWEEA (1£8)
N MEXZEIYE "6 0 A AR Py | EmmEs
R:24—)>/A-X B:YHEINFLT— ped=ckaes]
o = o fE #3125 : ~7-6- — IHAZEA (£8)
6lglg|* rONY =5 > 4 5 RS 1.(311).5 8-7-6-6 | 39.2 9 (4_420) LN "
L:Zgr T bt —T7—K=—FK B:NvE-F-+v> AR Ei
R IIFaE . 00 _ AB®Y (1£R)
215l | VNI Fay 4 5 TR 1.(372>.8 9-9-9-9 | 39.6 5 (432) Lae =1
L:IANXZXTNT B:TOTrrX BRI
N ¢ AEE—HR : ~6-8- = JIBZEF (1£8)
slglo|g178—F21— 4 4 o 1.(313).0 5-6-8-8 | 40.7 6 (4_529) ke
L2 T hA—G7—RK—F B:Z1TINILE #"HBET7—L4
R AT -33. 55— . - BB (1E8)
ol1l1|=ranr-x gk [ B Ty | mae
LTAY Y T Biw3avid— [lEigse]
® 1 — @B
15l=2F= 6,3,4,1,9,2,7,8,5
Ao=5"= 6,3,4,2,1,9,8,7,5
T =35r= 6,3,2,4,1,8,7,9,5
43—+ — 6,3,2,4,7,8,1,9,5
[ RN
B 6 300M9 74K 3-6 400M & 3-6 1,520/ &R 2-3-6 580F
# B 6 1204 2-6 170H B E 3-6 1,800 EE 6-3-2 5,030
3 190M9 2-3 290M BB 6-3 2,810
2 100M

ABICOVWTRDTEEERROODE. TR LIV,




